
Recall: Diagonalisation as special case of simlarity

# Orthogonal diagonalisation of realof eveassymmetric matrices- orthonormalbasisoe-vecs

Def Anan is orthogonally diegonalisable if I orth. matrix O st.
G'AQ = D = Q'AQ recall Qorth = 07=0201

A is symmetric if A = AT
If A is arthogonally diagonalisable, then A is symmetric
Prost
Q'AQ = Q'AQ=D

A = QDQ-' = QDQT
AT = (QT)TDIOT

= ODQT= A
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#Complex e-val related to rotation.

Ex R=[coso sino] Bind Is =] = [ coso sino?sing cose sing cos o
det (R- XI) = O

17-201 + (c'+52) =0
13-221+1=0

= cos@ $scosto-1
= cos@ ‡ isin o

But then AC. (complex = (x vec - iß) (v+iw)
= (aV+ Bw) +i(-Bu tow)

Claim: B=Ev, w3 is a basis and

IAw]B= [2]

Set cost = at-pi • sin a =
Sc this is a rotation matrix
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